
GCSE Higher Mathematics Algebra

Simultaneous Equations

L000001

i. Use the method of substitution to �nd x and y for each of the followings pairs

of simultaneous equations

x = y + 3

x = 2y − 5

y = 3x

x = 2y + 10

x = −4y + 1

y = −1/5x

x = 5y − 5

y = x− 7

ii. Use the method of elimination to �nd x and y for each of the following pairs

of simultaneous equations

2x+ 3y = 19

4x+ y = 23

3x− 4y = 16

x+ 2y = 2

1/2 x+ 3y = 40

2x+ 1/3 y = 20

3x− 2y = −11

−4x− y = 22

iii. Solve the following pairs of simultaneous equations to �nd x and y

x = 3y2

y = 2x

x2 = y

y = 3x

y = x2 − 3x

y = 4

x2 + 6x = y + 3

y + 2x = −15
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